4 F

):-% %1&*
aX At

5 4
R

\r,fA

(iﬂiﬂﬁ#/wbw\?éi%“ﬁ‘ﬁ)

(Sf644E2H 1 ALUKEER)

s (H

H

= I

JEE, UL i) o)



sestElER (MO A D WEMR)

BE—BR

1. BEAUELEoILE (BE) ~e -1 %[ 12. BIKABER® - 20
(1) BEARUELLEZILE (4.0m/ &) VP VU (1) Y7 Er—f
(2) WERUBELEZILE (5.0m/ &) VP VU - VH (2) MFZ3q>b
2. VPH#F (EEHR T SHF) c -3 % 3) I5>z)\vF>
(1) T SHF (RVR) (4) MNILb-Fyvb
(2) Ts#F (F-X)
(3) TSHF (BEVIYH)
(4) TSHF (Frv) 13. $IKBFETL c22 %
(5) TSHWFE (Vrwh) (1) HKRBI>OU— NESKE
3. VPH#F (EE®_RR#F) c e+ 5 % (2) KEAMEHKE
(1) RR#fEFE (RUR) (3) KEAL>>O>OU—RRRYOIX
(2) RRiftF (BEVIYH)
(3) RR#fEF (F7—X)
4. VPR®F (FRPE) 7 14. ZSABRK 23
(1) FRPHEVPHMHE (1) BRZEZH
(2) FRPEVPADKE (2) RIPBAERESH
(3) FRPEVPANESLE (3) RLyH-F-X
(4) IEGMREFE
5. VUR#F (FRPH) - .. .9 15. Z&A=T 24
(1) FRPHEVURMHE 1) BgF-xX
(2) FRPEVUBADIKE (2) BzvIL
(3) FRPHEVURHREE 3) B®EWWIY K (Tvz>)
(4) FRPEVURBEHE (4) ABWmE
6. VHA#F (EEHR) c12 % (5) &-KULT
(1) VHEBRARIR (6) BETILAK
(2) VHERHRESE (7) ZSRFRI>OU-— NESE
(3) VHERVSwYhbH (8) ZEHFRAIO>UU - MREM
7. VHRB#F (FRPH) c14 % (9) KEAMEHKE
(1) VHEBRARIR (10) KEAL>>O>oU— NERwW IR
(2) VHERHRESE (11) AFULREYSY K~ (Tv )
(3) VHERDKE 16. #hRK +25 %
8. VHBE#F (3F%R) +16 * (1) &:E/)ULT
(1) VHEBRXRZR (2) fakieFRREM
(2) VHERFvvS (3) EGREFHE
9. RWE - #F “17 17. BUKS - .- -26
1) RrLyb—=>340>b (1) BEMXZTU>OZ— (30%F) Bk
(2) BEBRRSIEEE (VPHA, VHA) (2) &, N\DRRTU>OS—Bi&k
10. BERRPSIEIEE(IZFE (EER__RR) -18 18. Y bMUFER#UKIES - 29
(1) VPERAXRIR (1) Sav¥-—JOvoRNIMES
(2) VPERRESE (2) B hOFEERKE
(3) VPERVYSYK (3) BROFECAARITUSHIS— 20 - ¥[
11. BERRPHIEBSEEIESHTF (35XR) -19 4) YhOFERMBBESAH-E AFTULXIXE
(1) VP-VHEBRARIR 19. BERASANIOYVD - -30
(2) VP -VHERDIKE 1) | ~JOwvY
(3 VP -VHERRESE (2) BEBIASANIOvVURE
¥ BR, WKkRE (Gt ZziR<) BEffizkr
B ZRDEC &5 *1 . - - F4THD *2 . . . BRUSE




S =




par it | 12. #IkHEH®

O#FicEIR

At RBEL) M8 THD, BLERUELES

[FEATLRLDT, BEBICDVTIE, BligsitEsads,

-k iR R 1% H| Mg | ZEE8E w2
B MU &5l zofs iz (F) (kg)
PZD201|VYJ k2 —)Utt5 JWWA-B 120 50 27#(7.5KE) (FCDHERN" | {E *1 12.0
PZD131|VYJ b2 —)Utt)5= JWWA-B 120 75 2 7E(7.5KE) (FCDEW©" & *1 26.0
PZD132|V D k2 —)Utt5 JWWA-B 120; 100 :27&(7.5KEY) :FCDEMA1Y" & *1 35.0
PZD133|VYJ b2 —)Utt)5= JWWA-B 120 125 27&(7.5KE) iFCDEMALS" & *1 45.0
PZD134|VJ k2 —)Utt5= JWWA-B 120: 150 :27&(7.5KEY) :FCDEMALY" | & *1 60.0
PZD202|Y T b2 —)Utt)5 JWWA-B 120 200 :27&(7.5KE) iFCDEMALS" : & *1 71.0
PZD203 |V J k2 —)Utt5 JWWA-B 120; 250 27&(7.5KEY) :FCDEMA1Y" | & *1 114.0
PZD204 |V J b2 —)Utt)5= JWWA-B 120} 300 :27&(7.5KE) iFCDEMALS" & *1 147.0
PZD205|Y D b2 —)Utt5 JWWA-B 120 50 37E(10KEY) (FCDHEMN™ i {E *1 12.0
PZD206|Y J b2 —)Utt5= JWWA-B 120 75 3FE(10KE) (FCDEMW©™ : & *1 22.0
PZD207|Y D b2 —)Utt5 JWWA-B 120; 100 ;37 E(10KE!) :FCDEMA1Y" & *1 28.0
PZD208|Y J b —)Utt5= JWWA-B 120 125 :37E(10KE) {FCDEMA1Y" & *1 40.0
PZD209 |V J k2 —)Utt5 JWWA-B 120: 150 37 E(10KE) :FCDEMA1Y" | & *1 48.0
PZD210|YJ b2 —)Utt)5= JWWA-B 120; 200 :37E(10KE) :FCDEMA1" : 1@ *1 71.0
PZD211|VJ k2 —)Utt5= JWWA-B 120; 250 37 E(10KE!) :FCDEMA1Y" & *1 114.0
PZD212|VY T b2 —)Utt)5 JWWA-B 120i 300 :37E(10KE) {FCDEMA1" : & *1 147.0
PQC152[MFZ31> bk 50 2 7#(7.5KH) A&l 8,590 7.1
PQC153[MFZ31> b~ 75 2 7E(7.5K2Y) A& 12,000 11.7
PQC154(MFZ31> 100 27%&(7.5KE) A&l 14,600 15.0
PQC155(MFZ 31>~ 125 (27&(7.5K&) A& 20,300 16.2
PQC156(MFZ31> 150 |27%&(7.5KE) A&l 20,700 22.0
PQC164(MFZ31> 200 27E(7.5KE) A& 28,600 28.0
PQC165(MFZ31> 250 [ 27&(7.5K%) A&l 38,800 40.2
PQC166(MFZ31> 300 |27E(7.5KE) f&| 46,600 49.4




par it | 12. #IkHEH®

O#FicEIR

A+ RBEL) M8 THD,

BLERUE BESESATVRNDT, BBICDVTE, BlEstEddTs.

J—R e G52} 1% 1= I il =9 SEZEE | #HE
Sy PR =5l TOM iz (M) (kg)
PQC120| D35> /)\w=+> 50A 7.5k 1& 262 0.06
PQC171 (AT L > /I\wFH> 80A 7.5k (ORI E VIR 3] 399 0.11
PQC172|=ATL > )\wF> 100A 7.5k (P MINCE YD IR E 467 0.13
PQC173 (AT L > /\wF> 125A 7.5k (I35 ICvE) i {E 552 0.14
PQC174|=ATL > )\wF> 150A 7.5k (P MINCE YD R E 689 0.16
PQC121|D35>2)\w=+> 200A 7.5k 1& 843 0.20
PQC122|D035>)\w=+> 250A 7.5k 1& 1,180 0.27
PQC123|05>/)\w*> 300A 7.5k 18 1,400 0.31
PQC175|(ATL >/ \wF> 50A 10k (P MINCE YD R E 210 0.05
PQC176|(ATL > /\wFH> 80A 10k (ORI NN E VIR 3] 324 0.07
PQC124|D035>)\w=+> 100A 10k 1& 404 0.08
PQC125|D5>/)\w+> 125A 10k 18 495 0.11
PQC126|D35>/)\w=+> 150A 10k 1& 615 0.13
PQC127|D05>/)\wF> 200A 10k 18 763 0.18
PQC128|035>=/)\w=+> 250A 10k 1& 1,030 0.25
PQC129|D5>/)\w+> 300A 10k 18 1,210 0.28
PQC130|RFLRAERIL I~ - Fw s M16x60 NEEEED (# *1 -
PQC131|RFLRAEMNIL I~ - Fw b M16x65 NESSD (8 *1 -
PQC132|RFLRAERIL S - Fw s M16x75 NEEED (# 216 0.20
PQC133|RFLRAEMNIL I~ - Fw b M16x80 NESSD (8 224 0.21
PQC134|RFLRAERIL S - Fw bk M20x70 NEESD (# *1 -
PQC135|RF> L AEMNIL~ - Fw M20x75 NESST (8 *1 -
PQC136|RXFLRAERIL S - Fw s M20x85 NEEEED (# 424 0.35
PQC137|RF> L AEMNIL I~ - Fw b M22x80 NESSD (8 659 0.41
PQC177|RF> L RFRAMNIL b M16x60 P/ *1 0.1
PQC178|RXF> L ARAMIL ~ M16x65 VN *1 0.1
PQC179|RF> L R7RAMNIL b M16x70 P/ *1 0.2
PQC180|RF> L ANRAF Y SUS304 M16 1& *1 -
PQC181|RF7> L A& SUS304 M16 v'd *1 -




